
 

 

              Problem Solving: Time     
1. It takes 1 hour to fill nine buckets with water.  

 

 

 

 

 How many buckets can be filled in: 

    a)   2 hours?  _____ × _____  = _____          
 

 

 

 

 

   b)   4 hours?  _____ × _____  = _____  
       
      or      _____ × _____  = _____            

 

 

 

 

 

 

 

 

 

 

   c)   6 hours?  _____ × _____  = _____  
   

                 or      _____ + _____  = _____            

1 hour 



 

 

2. Theo goes to the gym 20 times each month.  
 

 

 

 

 

 

How many times does he go to the gym in: 

    a)   2 months?  _____ × _____  = _____ 
          
    b)   3 months?  _____ × _____  = _____          

 

    c)   Half a year?  _____ × _____  = _____    
       

         or      _____ × _____  = _____      

       

      d)   1 year?  _____ × _____  = _____          

       

               or      _____ × _____  = _____      

 

 

 

 

 

 

 
 
 
 
 
 

1 month 


